H & 0l & AHS B Ml A

5t 201& =5 9 ARESHAEEX/c - HaE)
Chelr Lolgiie] &5 & ASEH (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZZ2Z0Hel 98,739,926 88,470,777 10,269, 149
= 59,615,3%
[ 1,933,510
Jl 281,254
< 5,664,932
Al 31,083,230
= 161,644
HUGtD 20|E L5 2 ARRSH(AESEX /L - HaE) 80,734,479 71,674,329 9,060, 150
= 51,794,740
[ 1,933,510
Jl 266,464
& 4,411,402
Al 22,286,184
= 42,179
Lolgiiel ¥E & ASEH 67,535,784 57,941,340 9,594,444
= 51,678,840
Jl 266,464
< 2,488,467
Al 13,102,013
ZEE S30/=S%ae &X 20,000 100,000 /80,000
307 lztol & 20,000 6,000 14,000
11 AMEISXAEEES 20,000 6,000 14,000
OZag =302y =29 2
20,000,000 20,000
INEAZ NS(XMHHEX) 48,972,506 45,026,644 3,945,862
= 44,075,255
S 979,450
Al 3,917,801
301 LEtE N = 48,972,506 45,026,644 3,945,862
= 44,075,255
< 979,450
Al 3,917,801
01 AR 2EHSHS(RNEXRTHE) 48,972,506 45,026,644 3,945,862
OJlz=¢= 48,972,506,000& 48,972,506
= 44,075,255
s 979,450
Al 3,917,801
COIIESSANHIA SAL &5 EX3 X 212,400 165,600 46,800
= 63,720
Al 148,680
307 elztol & 212,400 165,600 46,800
= 63,720
Al 148,680




2A:

LR Relin)
A A5t BI|E =& A FERIH(ARSK/ el - FAE)
Gl Loldiie] #E Y ASEH (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 212,400 165,600 46,800
OLQIXE=SAHIA SAHL 252X
150,000 x1182* 12 212,400
= 63,720
Al 148,680
Colgintel ¥ Al SKIE EH(XIRHER) 15,207,170 11,500,666 3,706,504
= 7,603,585
= 1,443,809
Al 6,159,776
307 gl2to| & 16,207,170 11,500,666 3,706,504
= 7,603,585
= 1,443,809
Al 6,159,776
10 Al SXAAIEEHE2EHI2x 769,080 634,194 134,886
Oastd|2 Aeolt o1z
29,580,000& 26 769,080
= 384,540
Al 384,540
11 AMRISXAEEES 14,438,090 10,866,472 3,571,618
O AIE 24| 14,438,090
0BAUES 3,370,000 *2,530H 8,556,430
= 4,278,215
== 865,643
Al 3,422,572
0 At MHIAE 8,464,000& «640& 5,416,960
= 2,708,480
== 541,696
Al 2,166,784
oA 2,670,000& 170 453,900
= 226,950
s 45,390
Al 181,560
oFUYNH 150,000 *72& 10,800
= 5,400
=S 1,080
Al 4,320
corante]l & AR ESKIEAE e 29 1,400 1,400 0
201 Ler23 | 1,400 1,400
01 At2t2ltl 1,400 1,400
OoledXie] & AESXEAS AR
=g 70,0002 x5 +43] 1,400
Lol =280 XE 1,440 3,600 N2,160
= 288
Al 1,152
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2A:

LR Relin)
A A5t BI|E =& A FERIH(ARSK/ el - FAE)
Gl Loldiie] #E Y ASEH (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 266,464
Al 266,464
101 @124H| 515,980 529,060 A13,080
Jl 257,990
Al 257,990
MU IIRIMZZENSES 515,980 529,060 13,080
O3 colgXtel At 2| 515,980
F={; 290,000« 158112 504,020
Il 252,010
Al 252,010
odoi=2E=s 20,0002 »158H 3,160
Jl 1,580
Al 1,580
CR=F S 40,0003 =20 *11E 8,800
) 4,400
Al 4,400
201 et 3| 9,418 9,040 378
Jl 4,709
Al 4,709
01 At22t2ltl 9,418 9,040 378
O39d elgdiiel At A2l 9,418
oZE oldXte] AFE ARl
8,950,000& 8,950
) 4,475
Al 4,475
03YE Lolakiel AIE SEHI
468,000 468
Jl 234
Al 234
202 04l 2,000 2,000 0
Jl 1,000
Al 1,000
01 =LHOHI 2,000 2,000 0
O39g elgdiiel Al =U0i8I
2,000,000 2,000
Il 1,000
Al 1,000
301 LELE NS 5,530 8,700 A3,170
Jl 2,765
Al 2,765
11 dALEEIXIE S 5,530 8,700 A3, 170
O3 Logdtel M 23ES
35,0002 %158 5,530
) 2,765




SA: ZRE0RID
A A5t BI|E =& A FERIH(ARSK/ el - FAE)
Gl Loldiie] #E Y ASEH (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 2,765
(FIFE)100MIAILH 24l L X}2 2,400 2,400 0
== 1,200
Al 1,200
307 212+01& 2,400 2,400 0
< 1,200
Al 1,200
11 AMEISXAEEES 2,400 2,400 0
OFUXNAHE &SH & 28NS
2,400,000& 2,400
= 1,200
Al 1,200
LRISXAHIA MBS 2,955,470 2,671,884 283,586
[ 1,932,070
= 200,682
Al 822,718
COIESSAMEIA ALHl XA 2,604,636 2,416,630 188,006
[ 1,823,245
= 196,277
Al 625,114
307 elztol & 2,604,636 2,416,630 188,006
= 1,823,245
[ 186,277
Al 625,114
11 AMEISXIAEEES 2,604,636 2,416,630 188,006
OeI¥ESSABIA ArH| XI&
2,604,636,000& 2,604,636
= 1,823,245
[ 186,277
Al 625,114
CoIrESsSAHIA 29 X2 56,250 31,280 24,970
201 er23| 56,250 0 56,250
01 At2teltl 56,250 0 56,250
OAlZE =)0 SsSAHIA X
62,5002 x 75 * 122 56,250
SHCISSHHL SSAM AU AHIA ArGH] X ( 217,650 127,554 90,09
S8
[ 108,825
= 21,765
Al 87,060
307 gl2to| & 217,650 127,554 90,096
[ 108,825
= 21,765
Al 87,060




2A:

3 St DI = o HRESHAMIIER/ Lol - HAW)
el ZISXIAHIA KB (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 217,650 127,554 90,096
OSA=AZBINY STeTO ML
Al XA (SE) 217,650,000& 217,650
= 108,825
< 21,765
Al 87,060
ARISRDI2E SAA ML= X2 4,400 3,600 800
= 880
Al 3,520
307 gl2to| & 4,400 3,600 800
= 880
Al 3,520
11 AMISXAIEEX 4,400 3,600 800
OAt|=XID12 SAHL MSIHE =S
4,400,000 4,400
< 880
Al 3,520
2 dIAsAAHA 2 X 72,534 0 72,534
= 21,760
Al 50,774
307 el2to| & 72,534 0 72,534
S 21,760
Al 50,774
1 AMISXAIEEX 72,534 0 72,534
0024 HASHAYA 29 X
72,534,000 72,534
[ 21,760
Al 50,774
|1 222t €4 819,464 827,275 AT7,811
= 882
Al 818,582
d2ad Fa34 150,300 170,500 A20,200
307 el2to| & 150,300 170,500 A20,200
1 AMEISXAIEEXS 150,300 170,500 /20,200
OFRAY SRIAL 29 150,300
Pl ISk
51,500,000& 51,500
0EZARI=SX 2 98,800,000 98,800
Coluws & ARIEWIIEMS 191,954 169,465 22,489
201 er=23| 1,350 1,500 A150
01 At2teltl 1,350 1,500 A150
OZZ2X& A2t/ 1,350,000 1,350
202 04| 1,000 1,000 0




2A:

LR Relin)
M AUs D BIIR b5 U HPSBHASI=/ L0l - HAY)
chel: 2| Z22s g4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 1,000 1,000 0
Od2X& =0l 1,000,000& 1,000
307 elzto| & 189,604 166,965 22,639
04 QIZHHAIAME 2 & 5,350 0 5,350
OB=AEEIIEZ2HE
5,350,000 5,350
10 Al2ISTIAEEE2HIEX 9,125 85,599 13,526
Ofstcelsl £x A2 224 K& 99,125
oLhEH-0IS] SEAINIS 2| XA (2
Bl) 21,922,000& 21,922
o LHEH:- Q18] £XAIXIE 24| XIH(A
bl) 77,203,000 77,203
11 ARRIS XA E X 85,129 81,366 3,763
Ot ols] X AIKIS AS2ASIAY 40,321
o=QI=XSAUE &t
10,871,000& 10,871
otlE2s XA 29,450,000& 29,450
OUfet=elsl EXAKE XA AT
19,760,000& 19,760
OUstols] =X AIXE &S AFEHl X
& 7,000,000 7,000
Ofjgt-olsl 523 48 H2DS
4,488,000& 4,488
ORMN42l ZENEA stitg sH FIF XI&
13,560,000& 13,560
coltHst 29 1,700 1,300 400
307 lztol & 1,700 1,300 400
11 AMEISXAEEES 1,700 1,300 400
OUst=ols] =X AIXE oltist 2 X
& 1,700,000& 1,700
LoIo] & SliA 12,000 12,000
307 el2to| & 12,000 12,000
04 QIZHHAIAIH 2 £ 12,000 12,000
Okelel & aA XA 12,000,000 12,000
LololhEd &L S25t HE(LHE) 4,410 4,410 0
== 882
Al 3,528
307 212+01& 4,410 4,410 0
= 882
Al 3,528
1A SXIAIE B E 4,410 4,410 0
Ookoltist =2 24 X&
4,410,000& 4,410
= 882
Al 3,528




2A:

22 T0jeI

A A5t BI|E =& A FERIH(ARSK/ 2l - FAE)

ol 21 BEEE €Y (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOl D18 &AL 2,000 2,000

201 er23 | 2,000 2,000
03 ALY 2,000 2,000
O0HOIg JISHAL 2SI
2,000,000& 2,000
MNAS THOH=Ql AAHHE 320,300 320,800 A500
307 @I2t0| & 320,300 320,800 A500
11 AMISXAIEEX 320,300 320,800 A500
OHS=E NMNAS Mot AAE 320,300
oAEELI=ESH 131,300,000 131,300
0 HEEEAR S| 189,000,000 189,000
KNSESAK R 25 XA 136,800 136,800
301 EtE N = 136,800 136,800
02 ANRI2HASFS(HAAS, XNLHE) 136,800 136,800
ONAZAXNE BE K& 136,800
SNEEPE
100,000 x 1062 * 122 127,200
ONASAIKITE IR
800,000& * 122 9,600
Cedagt xd =Y 9,143,661 10,125,680 /082,019
= 115,900
= 1,440
=S 1,719,691
Al 7,264,451
= 42,179
F2E 2+ & 2el 191,000 205,000 214,000
201 fer23| 4,000 4,000 0
01 AtR2t2|HI 4,000 4,000 0
OZ2Y A2 |X =484
300,000 %107 A 3,000
OISRl AtR2teld] 1,000,000& 1,000
202 04l 1,000 1,000
01 2LHoIH 1,000 1,000
OZZAIE =UHObI 1,000,000& 1,000
401 Al HIZ S 0HbI 120,000 150,000 /30,000
01 Al&H| 120,000 150,000 30,000
Odzg e 20,000,000 *6IH 2 120,000
402 2I2F X201 & 66,000 50,000 16,000
01 BIENSA S E X (XM THR) 66,000 50,000 16,000
O&z2g JIsEH 66,000
0B322 N2+ & 23HIS NA
2,000,000 *257H 2= 50,000
0Z2g NSaESAII(AD)XI
2,000,000 +87H 2= 16,000




2A:

3 5t 20| =& ¥ ZRESHMEISX/ =2 - Had)

ol =432 4 =Y EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Z2Y ] 2 23] X (34) 231,800 206,964 24,836

= 115,900
== 34,770
Al 81,130
301 2eEN= 45,400 45,400 0
= 22,700
=S 6.810
Al 15,890
01 Al EEHS(FRDEXMH) 45,400 45,400 0
OZz2g g82= X2 45,400,000 45,400
= 22,700
= 6.810
Al 15,890
307 21201 & 186,400 161,564 24,836
= 93,200
= 27,960
Al 65,240
10 Al SXAAEEHE 22X 186,400 161,564 24,836
OZ=g 4l Xa 186,400,000 186,400
= 93,200
= 27,960
Al 65,240
Z22Y 2 243 N3 (34 (HelR) 52,617 36,213 17,404
=S 7,288
Al 29,150
= 16,179
307 elztol & 52,617 35,213 17,404
= 7,288
Al 29,180
= 16,179
11 AMEISXAEEE 52,617 36,213 17,404
OA2Y =5|T2 02 2| 21210H] XI(
KEA) 16,178,600& 16,179
= 16,179
OZ2Y =3 Z=08 22| XA
36,438,000 36,438
= 7,288
Al 29,150
Z22g 2 43 N (Ba)(22]) 368,830 368,830 0
=S 73,766
Al 295,064
307 @I2t01 & 368,830 368,830 0
< 73,766




Z2 X010t
2ot & =& Y HLOE2sHAMISX/ =0l - HAH)
CSMEZt Y S EER=E)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
Al 295,064
10 Al S XA EEHE2IHIE X 368,830 368,830 0
OZ2Y 2%l N& 368,830,000 368,830
T 73,766
Al 295,064
2g 29 243 NA(294l) 7,260 7,260 0
307 212+01 A 7,260 7,260
06 2832 7,260 7,260
OZZ2Y Zolitia HAEH
110,000 & #6604 2~ 7,260
d=Y SN s& XA 11,761 11,761
307 212+01™ 11,761 11,761
11 Al =SXAMEES 11,761 11,761
OZ2Y S =5 XJAE
30,950 x5 1 A *43| 11,761
d2Y T2 2R 123,000 97,000 26,000
= 19,400
Al 77,600
= 26,000
307 212+01™ 123,000 97,000 26,000
& 19,400
Al 77,600
= 26,000
11 Al =SXAMEES 123,000 97,000 26,000
OZ2Y Zz7d 23X&
97,000,000& 97,000
& 19,400
Al 77,600
OZ2Y 27 2 X2 (XHA)
26,000,000& 26,000
= 26,000
Lo Jsed 20,742 46,000 A25,258
401 Al HIZL 200 20,742 46,000 N25,258
01 AlEHI 20,742 46,000 A25,258
OFZAILOI=X2 A JHES 20,742
o MIISAHLEDS 1 Al) 5,000,000 5,000
o HIISESAt 2,700,000& 2,700
o Klotal 2HFIHe S At 2,200,000& 2,200
015 HIE3AL 4,842,000 4,842
03BAIE=E EI| otEFZ RICH|
3,000,000 23| 6,000
ol=EXa 23 750,757 739,136 11,621
307 212+01™ 750,757 739,136 11,621
05 QIZIRIErZ 750,757 739,136 11,621
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FA BZHO0HRI
A A5t IE =& A FERIH(ARSK/ =0l - FAE)
ol =432 4 =Y EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 445,450 678,780 233,330
COISTIAIE BARH =X (1E 0/9h)
117,710,000& 117,710
= 23,542
Al 94,168
OLQIZXIAIE SAX X (54 0I8H)
146,560,000 146,560
< 29,312
Al 117,248
OLQ=EXAIE SAR SXI=2(5E 014)
181,180,000& 181,180
= 36,236
Al 144,944
e N dMds =29 3,000 2,400 600
201 et 3| 3,000 2,400 600
01 AlR22IH| 3,000 2,400 600
OFIIQUIIZ XF AARIRE] AT
150,000 4 & +53] 3,000
V2T |2 SIAE &3 X 2,880 0 2,880
= 1,440
< 1,008
Al 432
402 212 X201 & 2,880 0 2,880
= 1,440
=S 1,008
Al 432
02 RIENEASEZ(0IETHR) 2,880 0 2,880
OFIII|2 IIAL LXK
2,880,000 2,880
= 1,440
= 1,008
Al 432
st=20isd 23X 20,000 20,000 0
307 212+01& 20,000 20,000
05 2ItRIE = 20,000 20,000
Ost=dsd 29 N2 20,000,000 20,000
HHE ¥E2st &4 280,100 108, 150 171,950
= 1,680
Al 278,420
SS&d AEAE 5,600 0 5,600
= 1,680
Al 3,920
301 EtE NS 5,600 0 5,600
s 1,680




SN BREHOI
may: A

5t
I BB

s e &)
SA - B - G9I(30) - NIRAY - BES A SimE==t
Al 3,920
2 AN BEA>HS(HUYHS, NYTHA) 5,600 0 5,600
OB=xAl SS&d N3
800,000 7 5,600
= 1,680
Al 3,920
HEHRO S 2Y 274,500 108,150 166,350
201 L2 | 24,000 27,200 A3,200
01 Ar22teltl 24,000 27,200 A3,200
OssE tWstd =22 SHx2
6,000,000 *43] 24,000
301 LEHBEF 5,950 5,950 0
2 AN BEA>HS(HUHS, NYHA) 5,950 0 5,950
OSFALN AFZX R 850,000 75 5,950
308 AXIEHMSOIN 2,400 2,400
13 S 2SS E AR E A 2,400 2,400
OS] AMLR 30|
800,000& x3H 2,400
401 A& BIZ 200 117,150 36,500 80,650
01 Al&Hl 117,150 36,500 80,650
OTAAE SX 24| 117,150
o5& JIAHA W SZdAF X ¥ =5
AHl Zl 30,450,000& 30,450
053 JIAHA FHE=Z W 20| LS At
3,000,000& 3,000
0StEZ JtAH2D| Y KolItA Z0HE X
&dl S 20,600,000 20,600
oSt&EZ ZUHAt WAl ¥ 22LI0L B=
ctel Ayl 19,200,000& 19,200
0S&EZ M2HUEIY WA
21,900,000& 21,900
0SHEZ UE XD WHH & AHAOIK 1
A 11,000, 000& *2CH 22,000
405 KHHE S| 125,000 16,500 108,500
01 XML =EF S| 125,000 16,500 108,500
OF29 & M73etet orXiet &xXI
125,000& *1,000CH 125,000
OrMBt) 2AAEH LoISK SX(AIEISKI/ Lol - HAH) 3,500 3,000 500
ANE FQAIM 2T (FZF0HID) 3,500 3,000 500
ANZEAIH AREX(ZS)(FZ2 012 2,500 1,000 1,500
203 PR =&IH| 2,500 1,000 1,500
03 A FRIHRFAIH| 2,500 1,000 1,500
ONEAIZ Q2=F(2E)
2,500,000& 2,500
ALY HREX (M) (ZZ2F0H2ID) 1,000 2,000 21,000




A 2T
HEH: OFF
[ I —

45t0) A28t LIS X SA(ARISR/ ol - FAH)
SRl AR FQAIM QREX(ARTONID) (ol 29
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 1,000 2,000 A1,000
03 A=A 2= 1,000 2,000 21,000
OABAIY H2EZI(RA)
1,000,000 1,000
Zojel Aol AF A SXSA(MBISX/FHAHNSKIH) 17,907,961 16,699,494 1,208,467
= 7,820,616
=S 1,253,530
Al 8,731,634
= 102, 181
=2 0 SXAEIA 12,958,414 10,962,757 1,995,657
= 7,820,616
< 1,120,808
Al 3,914,809
= 102, 181
JESENXE FBH SSIM gy 12,600 0 12,600
== 2,520
Al 10,080
301 2= 12,600 0 12,600
== 2,520
Al 10,080
02 MBI 2EHSFHS(HAANS, XLHE) 12,600 0 12,600
OZY =SS! Atated
12,600,000 12,600
= 2,520
Al 10,080
22 ZO00ts K2 AL 4,800 10,560 A5,760
301 EetE NS 4,800 10,560 A5,760
02 NRI2HHSFS(HAAS, NLHE) 4,800 10,560 15,760
OZLHOts THEAMEIA X
80,0002 68 122 4,800
LEHY F2AERNE 5,713 3,810 1,903
= 4,000
== 343
Al 1,370
308 XXM SOIH 5,713 3,810 1,903
= 4,000
= 343
Al 1,370
18 SIS B XA AIE 5,713 3,810 1,903
OgEHM 2245 XA
5,713,000& 5,713
= 4,000
= 343
Al 1,370




A 2204

B ZOHOl MOl AE U RS (ASIZX/HAHSTR)

Rl =EE2 e SXAMHIA (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
LETOHR FAESAHHIA R 1,708,058 759,103 948,955

= 1,195,640
== 102,484
Al 409,934
308 XtXIEMSO0IH 1,708,058 759,103 948,955
= 1,195,640
=S 102,484
Al 409,934
183 S 2S0UetE 4R ASAIE| 1,708,058 759,103 948,955
RSB ZAHEAHHIA X7
1,708,058,000& 1,708,058
= 1,195,640
= 102,484
Al 409,934
LEIOfSr HhSSHSHHIA 324,012 347,686 N23,674
= 226,809
= 19,441
Al 77,762
308 AXIHMSOIA 324,012 347,686 N23,674
= 226,809
= 19,441
Al 77,762
18 SIS U AEAIE 324,012 347,686 N23,674
Ogadistd guzasAEA
324,012,000 324,012
= 226,809
= 19,441
Al 77,762
SEMWEAMEIA HiRH XA 514,966 300,000 214,966
= 360,476
= 30,898
Al 123,592
308 AHXIEMSOIH 514,966 300,000 214,966
= 360,476
< 30,898
Al 123,592
18 SIS0t 4 A A A 514,966 300,000 214,966
OLLTHEAHIA BI2H X2
514,966,000& 514,966
= 360,476
< 30,898
Al 123,592
BRID|WL 2,800 5,226 A2,426
= 2,240




2A:

B ZOHOl MOl AE U RS (ASIZX/HAHSTR)
Rl =EE2 e SXAMHIA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 12
Al 448
301 EtE NS 2,800 5,226 N2,426
= 2,240
== 112
Al 448
01 AR 2EHSHS(RNEXRTH) 2,800 5,226 N2,426
OZofel BXD1D1 XA
2,800,000& 2,800
= 2,240
== 112
Al 448
ARISRID12 SAAF M0 31,800 34,800 23,000
= 6,360
Al 25,440
307 elzto| & 31,800 34,800 23,000
= 6,360
Al 25,440
10 Al SAAEEHE 22X 31,800 34,800 A3,000
OARRIS A2 SALAE XA
31,800,000 31,800
s 6,360
Al 25,440
AZEC NEHXEHH 2 43,275 43,275 0
= 8,655
Al 34,620
307 elztol & 43,275 43,275 0
= 8,655
Al 34,620
10 Al SXAAEEHE 22X 43,275 43,275 0
OAIZZ IR ZAH 2 X
43,275,000 43,275
=S 8,655
Al 34,620
AN N Y SUEAH| XIH 11,760 5,000 6,760
301 2eEN=S 11,760 5,000 6,760
02 ARl 2EH LGS (HAAS, NLWE) 11,760 0 11,760
OAZ ROl B U =ot=ay| X
140,000+ 7 * 122 11,760
HEHHS! SLHISAA 2,400 2,000 400
= 1,680
== 144
Al 576
301 LEtE NS 2,400 2,000 400




2A:

B ZOHOl MOl AE U RS (ASIZX/HAHSTR)
Rl =EE2 e SXAMHIA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,680
=S 144
Al 576
01 Al E2E AL S(FRDEXH) 2,400 2,000 400
OogEofel EatdIESXIA
2,400,000 2,400
= 1,680
= 144
Al 576
=== (01x) X2 558,664 550,332 8,332
= 391,065
= 117,319
Al 50,280
301 EtE NS 558,664 560,332 8,332
= 391,065
= 117,319
Al 50,280
01 Al EE A S (2 DEXR) 568,664 550,332 8,332
OFM==0Ix) X= 568,664,000 558,664
= 391,065
= 117,319
Al 50,280
o= (Xl S) = 233,693 244,036 A10,343
= 163,585
= 49,076
Al 21,032
301 LEtE NS 233,693 244,036 210,343
= 163,585
[ 49,076
Al 21,032
01 Al EEAGZ2(ZDEZME) 233,693 244,036 /10,343
OZM= (2 &) X2
233,693,000 233,693
= 163,585
< 49,076
Al 21,032
ZoHe!l AZF & K 6,000 5,000 1,000
= 1,200
Al 4,800
307 elztol & 6,000 5,000 1,000
= 1,200
Al 4,800
012z & 2=H| 6,000 5,000 1,000




A 2204

B ZOHOl MOl AE U RS (ASIZX/HAHSTR)
=Rl E=2 J0 SXAEIA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ol A8 X2 6,000,000& 6,000
= 1,200
Al 4,800
el NEFAHAS NFAL 112,000 100,000 12,000
=S 56,000
Al 56,000
301 EtE NS 112,000 0 112,000
< 56,000
Al 56,000
14 JIEt2 = 112,000 0 112,000
Ol NEEIEAS XA
112,000,000 112,000
= 56,000
Al 56,000
ZJOHIEH M =29 296,653 300,422 N3,769
307 gl2to| & 296,653 300,422 N3,769
05 2I2+RIE =S 70,59 73,612 23,016
oLl F2=sHA 28 A& 70,596
o ZEH2 I 25,900,000 25,900
0 SAHAF @12H| 3,724,666« 12 44,696
10 Al SAAIEEHE 22X 223,657 224,720 1,063
OXoHI2ET A/SHE 2 X 9,687
o Zer=aHl 11,220,000 11,220
0 SAHAH 21248| 3,561, 125%«2F«12& 85,467
OXEHFOHA N XRAH 2 X 126,970
oZet=gH| 5,880,000& 5,880
0 SAHAF 2121H] 3,363,611 3% ~12& 121,090
1 AMISXAIEEX 2,400 2,090 310
OXIHZOHA X XIZHEH 2= (ArHl) X
el 2,400,000& 2,400
ZONQI Ml A & WE X 56,450 34,780 21,670
307 glztol & 56,450 34,780 21,670
04 QIZHHAMAIRH 2 X 51,570 0 51,570
OZ0HRI Bt ENHTHE XISE LAY
7,000,000& 7,000
OZofelel & AL X 30,000,000 30,000
OXNMZIE 3l HOHRISHOISHEEIHS] N
z X 12,570,000& 12,570
Ot Al Atgel HelsS izl X
2,000,000& 2,000
11 AMEISXAIEEXS 4,880 34,780 229,900
OO0 SX=0F AFEEI & WS
4,880,000 4,880
e FE=44 A 48,048 33,600 14,448




FA BZHO0HRI L
Ma: mofel Ao AT U SNEF(ABIZR/HAHSTIA)
=Rl E=2 J0 SXAEIA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 9,610
Al 38,438
301 EtE NS 48,048 0 48,048
= 9,610
Al 38,438
02 ARSI X LGS (FHAAHS, NSWE) 48,048 0 48,048
Ol 44l X
7,0003x33H 43| x525= 48,048
=S 9,610
Al 38,438
o ARIEOH 29 190,008 194,160 N4 152
307 212+01& 190,008 194,160 N4 152
10 Al2IS XA EEE 22X 77,989 73,597 4,392
OXOHIH AlE2H 77,989
o (AHXIHLLHOHASRIES HZAIXNR
791,666 * 12 9,500
0 (AHE=sS0tIEE SXAIRE
837,666 122 10,052
o (AN S = EHEQAAFE| HZAIX
2 1,388,916& «12& 16,667
0 (ADBH=AIZE N AE B HEAIXIE
1,072,000 122 12,864
o (ADBH=AHME IS RIB HEAIXIR
750,000 * 128 9,000
o (AE=XHEAES SZAIXIZ
862, 166& 122 10,346
o (A Bt Al &t 796,666 * 12 9,560
1 AMEISXAIEEXS 112,019 120,563 A8,544
Os0toIgsl 2ates KA 12,520
0 HEEE XA E=S0tIHE
2,170,000& 2,170
o ZRELENX CS0III=EHE
6,010,000 6,010
0 YASHRXISSO0LI2I 50|
2,370,000& 2,370
0 FASENA =+=UHEAUZ
1,970,000& 1,970
SOtelEal MEAE X3 AL 4,270
o FZHE #lolZ 2,760,000& 2,760
o EE30 1,510,000& 1,510
OmlgeoIdgs E38s KA 3,380
008X 3,380,000 3,380
Omlggieladgal Mg XA 5,600
otisA=wd 1,860,000& 1,860
oltmZ=Zuwa 1,980,000& 1,980




EX (A EX/FHAAHSKIR)
A

SN - BE - SRA(SIH) - ARAY - B

ZE

H
ol &y

OAIZZOHQIoIErE] THERE KIRAY

o=g 4
oA
ol
O&IXIZOH
OAIES & HARS
o otH =& 3|
O&IHIEO !

e

o EEZ0
OHOIBSE=SX2 THaXe KA
o BHHIFC W4l
OXNELL =X Zatas NJAMS
o LEEOC! At ESEHUD
0 Ml193] StHDIEXIAAL
o MI36a| M XNELLEOHICHS
OXNELLSXNEHS HEE KSAS
0 SAAl&
0 RJtuwAl
oLclual
OXHMZECIEs Zatats NJAL
o AT HEOfIEZEM=H
oL RATHOHQIGHH
o ZRASTXIMZEHLICHS
o ZOeIDISEIItHE
o ZOfClEIS S
OXMEOCIES] HEXE KIRAA
(o)=] == mES
oMUl wA
Ot MlIa 23as XA
o2& ZOHQ! =Ltz HAEEY
Ot MIA THEHRHE X2 AHS
OADIECIXIMEZZ )

=Xz =3Es KA
2:

Nzl HEXE XZAE

1,760,000

3,240,000
1,540,000&

1,500,000
4,000,000&
2,250,000&

1,220,000
4,000,000&

3,000,000&
3,250,000

4,414,000&

7,380,000&

2,910,000

3,170,000&

1,250,000&
1,250,000
3,600,000&

340,000
4,340,000
1,420,000

168,000

471,000

1,208,000
1,928,000

3,800,000

6,000,000&
8,000,000

1,760
4,780
3,240
1,540
7,750
1,500
4,000
2,250
5,220
1,200
4,000
6,250
3,000
3,250
4,414
4,414
13,460

7,380

2,910

3,170
6,100
1,250
1,250
3,600
6,739

340
4,340
1,420

168

47
3,136
1,208
1,928
3,800

3,800
24,600

6,000
8,000




1)

=

=72

=
o

{SFH

=
Tl

(ArEIE X/

of
i’
oF
uJ

-

KIO

Hlw

N1,722
NP2
NP2

21,500
21,500

N8, 727

A28, 727

N8, 727

7,258

7,258

MEE
Ofl &k2h

21,982
9,582
9,582

2,500
2,500
9,900
9,900

2,363,311

2,363,311

2,363,311

72,515

72,515

Ofl &F2H

10,600
20,260
9,360
9,360
350
3,000

1,050

2,000
280

1,000
1,680
1,000
1,000
1,000
9,900
9,900
9,900

2,334,584

fir

1,634,209

H

490,262

2,334,584

210,113

Al

fir

1,634,209

iy

490,262
2,334,584

210,113

2,334,584

Al

i

1,634,209

iy

79,773
63,819

490,262

210,113

Al

i

iy

11,168

4,786
79,773
63,819

Al

m

11,168

W

- SRA(E) - HIRAY

- ESS

S LRE-L

10,600,000&

01 AFR2t2ltl

K0

o}

ol
o

70,0003 *15%

I+
E

<0
=1
OF
Ul

OHRI= X2t

b

KO

O

2,000,000&

2
70,0002 424

5|2

=l

O§|

el

o
T

=13

S22l

At

w0

A&

oJ

K0
@)

1,000,000
1,000,000&

70,000 2 * 128

8,2503x100F « 122

o

2|

e

g 0d

[=]
[uins

O I X &

b

01 S|

202 044l

no

Mo

no
3

oJ

KO

2,334,584,000&

o
[uind

2|

=

OHeI2lZ HI X

PN3
=]

or&

=
=)

H|

308 At




2N ZZ2 X010t
S ZOHCl HY AME Y =S
Chel: AZx=S R0l 22X AH

SA - B BRA(SH) - HRA - of v e HIDE2
Al 4,786
13 SIS0t AS A 79,773 72,515 7,258
OFoelel=zHl XI& 79,773,000& 79,773
= 63,819
= 11,168
Al 4,786
Hoiel 2ZHI(HISN) XI& 1,000 1,100 A100
=S 200
Al 800
307 @12t0| & 1,000 1,100 A100
S 200
Al 800
0122 & 3=l 1,000 1,100 A100
OZopel o/=HI(HI=0) X
1,000,000 1,000
= 200
Al 800
o dX e X (SXLRel) 241,842 229,463 12,379
= 120,921
= 24,184
Al 96,737
101 @124H| 241,842 0 241,842
= 120,921
< 24,184
Al 96,737
M JIZtHZ2 RS2 241,842 0 241,842
OZ el EXILX2l A
241,842,000 241,842
= 120,921
[ 24,184
Al 96,737
0 dsEXID| 2Es X 4,000 0 4,000
307 elztol & 4,000 0 4,000
06 2= 4,000 0 4,000
OZe dsEXID| 28 K&
4,000,000 4,000
o #sXE=s0H KA 4,002,776 3,602,085 400,691
= 2,801,943
= 240,167
Al 960,666
308 AXIHS0IA 4,002,776 3,602,085 400,691
= 2,801,943
= 240,167
Al 960,666




2A:

B ZOHOl MOl AE U RS (ASIZX/HAHSTR)
=@t =E=2 e SXAMEIA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
13 S [2S0tHet 4 A AS A 4,002,776 3,602,085 400,691
OHONY HEXA(HISH) At
4,002,776,000& 4,002,776
= 2,801,943
== 240,167
Al 960,666
ZOHQI L Rt  XI& (ARREMIZRt2]) 221,726 216,309 5,417
= 110,863
== 22,173
Al 88,690
101 e124d| 221,726 216,309 5,417
= 110,863
S 22,173
Al 88,690
04 JIZtN2Z2 XS 2+ 221,726 216,309 5,417
OO0l AIZFMIZAtel 21 XI&
221,726,000& 221,726
= 110,863
S 22,173
Al 88,690
oL el X2 (L Lxtel) 857,508 807,360 50,148
= 428,754
= 85,751
Al 343,003
101 21A4H| 857,508 807,360 50,148
= 428,754
= 85,751
Al 343,003
MU IIRIMZZENSES 857,508 807,360 50,148
OFofel s iel 218 A&
857,508,000 857,508
= 428,754
= 85,751
Al 343,003
OIS MM 2208 28 A3 22,000 20,000 2,000
=S 4,400
Al 17,600
307 @I2t01 & 22,000 20,000 2,000
== 4,400
Al 17,600
11 AMRISXAEEES 22,000 20,000 2,000
O TS MEHH 2208 29 X2 22,000
0SSN HEHE
11,000,000 11,000




A 2204
Ma: mofel Ao AT U SNEF(ABIZR/HAHSTIA)
Rl =EE2 e SXAMHIA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,200
Al 8,800
0 OIREY MU AES HEHH
11,000,000 11,000
= 2,200
Al 8,800
JoHeISE o5d =2 N2 110,545 104,000 6,545
[ 21,509
Al 86,036
= 3,000
307 @12to| & 110,545 104,000 6,545
s 21,509
Al 86,036
= 3,000
10 Al SXAAEEHE 22X 110,545 104,000 6,545
OFoel BHATA 28| X2
107,545,000 107,545
=S 21,509
Al 86,036
OFOHR! SEASA QI1248] X (R
3,000,000& 3,000
= 3,000
ZONQUXtE otOIIHA ZHESED| 2X] K& 1,382 0 1,382
[ 276
Al 1,106
301 EtE NS 1,382 0 1,382
= 276
Al 1,106
02 ARSI 2 XSG (FHAAHS, W) 1,382 0 1,382
OmONQIRIZ 10ITHA ZBTHLI| L3 X
! 1,382,000& 1,382
S 276
Al 1,106
MNASEOHR! MEHl & ZAH XI& 1,770 1,992 NP2
= 886
= 177
Al 707
301 eEetE2 N = 1,770 1,992 N2
= 886
= 177
Al 707
01 Al EE A S (2 DEXR) 1,770 1,992 N2
OMASEQ el H HAHHl X2
1,770,000& 1,770




2A:

B ZOHOl MOl AE U RS (ASIZX/HAHSTR)
Rl =EE2 e SXAMHIA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 886
=S 177
Al 707
ST 252X X 95,000 100,000 /5,000
< 19,000
Al 76,000
308 XXM SOIA 95,000 100,000 25,000
= 19,000
Al 76,000
18 SIS0t HASAISY 95,000 100,000 /5,000
OSsHMe &322 Xd
95,000,000 95,000
= 19,000
Al 76,000
SSTHASHEHEH X 222,524 160,829 61,695
= 65,707
= 19,712
Al 78,848
= 58,257
307 elztol & 222,524 160,829 61,695
= 65,707
< 19,712
Al 78,848
= 58,257
10 AlRISXAIZEHE 22X 222,524 160,829 61,695
OSSN UMY X
164,267,000 164,267
= 65,707
= 19,712
Al 78,848
OSSHMAXHH2HE XA (XHH)
58,257,000& 58,257
= 58,257
STTMHANSMEXJHH 29 XA (<HI) 43,115 0 43,115
== 8,623
Al 34,492
307 212+01& 43,115 0 43,115
[ 8,623
Al 34,492
10 AlRISTIAIEEE 22X 43,115 0 43,115
SSTIXSMEX AL 2EXA(E
a1p; 43,115,000& 43,115
= 8,623
Al 34,492




2A:

B ZOHOl MOl AE U RS (ASIZX/HAHSTR)
=@t =E=2 e SXAMEIA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XSS L2 =2 ofg 2 =29 228,822 0 228,822
= 114,411
== 22,882
Al 91,529
307 212+01& 228,822 0 228,822
= 114,411
=S 22,882
Al 91,529
10 Al SXA2EE 22X 228,822 0 228,822
OzISS LEZM =2t HE 2l 2¢
228,822,000& 228,822
= 114,411
S 22,882
Al 91,529
ZEE g2 =2 s 2iig =9 169,320 0 189,320
= 111,524
= 9,559
Al 38,237
308 AtXIEMSOIE 159,320 0 159,320
= 111,524
= 9,559
Al 38,237
18 SIS0t HAS A 159,320 0 159,320
OxE3 LR F2 18 A0Y 29
159,320,000 159,320
= 111,524
= 9,559
Al 38,237
HOAZAEHEH 238 X& 115,218 69,910 45,308
=S 14,859
Al 59,435
= 40,924
307 elztol & 115,218 69,910 45,308
= 14,859
Al 59,435
= 40,924
10 Al SXAEEHE2EHI 22X 115,218 69,910 45,308
O BAAMLXNZEEH 2 N2
74,294,000& 74,294
= 14,859
Al 59,435
OFOfe! HAALXANYH 2 X (XA 40,924
o 24| 4,540,000 4,540
= 4,540




od
i’
oF
uJ

)

A&

=
=)

oA

(ArEIE X/

D b b S < < < S S S S
S S S = S S S S
A0 < < < = = = S =
KIO <
E
=)
&3 3 3 &5 ] ] S < < < <
& & & R S S S
& & & 8 ~ ~ ~
LED 3
mI ©
RIS
DI BNI2LRAILZ 2IIIFINITALISLIISLIIE 8838838833388 88|I888
SHPSSIHHSIHH HSILHIHTN Y I SN S BN § 3 3|8 S 3|S5 3|88 33|888
8B T TN TN 5T VY 2T R R PR RN RLIRKIFE KPP YW
i <~
<
=3
K| W= o un = | W= W U= W= W= U= H=| W=
*‘_ < *‘_ S
oI_H S q__l- -
% |2 : 5 :
8 |8 “ 3
m.u ™ —
D
> L
o+ I Kl W D
= LI &l = =
. : 0 ;@ fr |
= 0~ 1 W s
G z 0w @ 0= a1 Al 0
- K o * B < & o o_ n
oF - S = i = w o 3 ”! 3 = 7l
i B o S i W _ < % By S =< U 71
S = - = ujo 3 = Rl < 80 Iy Ao <
- |2 |2 o Al ol = Al =) 0o Jo = R <
| ~ R ~ S _ el A o o n n ~ o &
K o Kq = Ho KO m.AA_\ B0 ol < ~ o al ol ol o
: N o o O it . o O < S y O o
= o ® 5! ol 8 m g o
I+ Cl = = N <
RO




FA BZHO0HRI L
B ZOHOl MOl AIE U SRS (ASIZX/HAHSTR)
s ZoHel =X JE = EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 8,000 0 8,000
= 2,400
Al 5,600
02 QI X2 AL E R (0IHTHR) 8,000 0 8,000
O4A+R 2IZFAIE Z0E=24 JHe
8,000,000 8,000
=S 2,400
Al 5,600
S0 Ald - HH JISEZAISE 101,000 0 101,000
401 Al HIZL S 0HYI 91,000 91,000
01 Al&HI 91,000 91,000
OUEOISAHHE SZHE SA
22,000,000 22,000
OEZAIZMA SR HEH 32,000
oflEE MEY EASA
10,000,000& 10,000
o EZME SAt 22,000,000 22,000
OOtREZMABM W= U UM SAH
15,000,000& 15,000
OstMle e SAH
22,000,000 22,000
405 KHAHE SH 10,000 10,000
01 Tt 2SS F=HI 10,000 10,000
OXIHLSHOHASX S HLLI| Wi
10,000,000 10,000
Zofel o2y 90,724 88,600 2,124
= 45,362
Al 45,362
307 el2to| & 90,724 88,600 2,124
= 45,362
Al 45,362
10 AlRISXAZEE 22X 90,724 88,600 2,124
OFHe! OrEt23E 90,724,000 90,724
== 45,362
Al 45,362
ZOHQ XAt THEAIE 29 X 1,141,920 1,098,841 43,079
307 glztol & 1,141,920 1,098,841 43,079
10 Al2IS XA EEE 22X 1,141,920 1,008,841 43,079
OSZHMA=SRNE 28 X 422,462
o 24| 23,480,000& 23,480
0 21AH| 4,156,062 «8H * 122 398,982
OZZAIF=0SHHH 28 N2 312,800
o 24| 17,800,000 17,800
o 1A4H| 4,097, 22236 %122 295,000




2A:

X XH -
o=

A2 FOhOI T
DKol Mol A g

9 =
Zojel =X JIY =

chl: (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEZAIZMA=NEEH 28 N3 277,3%
o 24| 22,000,000& 22,000
0 21AH| 4,255,600 x5 * 122 255,336
OZZAIZUAU20ISAHHE 28 XS 129,322
o 24| 12,190,000 12,190
o 21A4H| 3,253,6663 «3H * 122 17,132
O A JIs2Z A 55,000 368,000 /303,000
S 27,500
Al 27,500
402 2I2F X201 & 55,000 104,000 249,000
== 27,500
Al 27,500
02 QI EASEX(0IETHR) 55,000 104,000 249,000
OaXMEA=X3 Xef
55,000,000 55,000
= 27,500
Al 27,500
ZHUSXAIE SAA K=< 45,600 46,080 2480
= 9,120
Al 36,480
307 @120l & 45,600 46,080 A480
== 9.120
Al 36,480
10 Al2ISTIAIEEE2HIEX 45,600 46,080 A480
OHUMASKAIE SAK SR+
45,600,000 45,600
== 9,120
Al 36,480
JoIAIE 28 XA 3,700 3,700
201 Let=Ehl 2,700 2,700
01 AtR2t2|HI 2,700 2,700
ORYMZAIFERARS 2
70,0002 %10 700
OZMHAAEE At22elH]
1,000,000 1,000
OHOHAXSK =Xt M=
1,000,000 1,000
202 048l 1,000 1,000
01 2L AL 1,000 1,000
OFMUAIEE 0o 1,000,000 1,000
O SS=AHE X=d 3,188,066 3,671,000 A482,934
401 A2 HIRL R 0HbI 3,188,066 3,671,000 A482,934
01 Al&HI 3,108,066 3,613,000 504,934




2A:

200! 0t

B ZOHOl MOl AIE U SRS (ASIZX/HAHSTR)
s ZoHel =X JE = EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHMHISE=SXHE SAHI
3,045,066,000& 3,045,066
OMaHI =X bl 41,000,000 41,000
O&H 2 =7EH| 22,000,000& 22,000
02 2/l 65,000 53,000 12,000
O ISE=XHE el
65,000,000 65,000
03 Al 2 0HHI 15,000 5,000 10,000
OHISE=AHEH AIE U
15,000,000 15,000
JOHAXMSHEAIE 2F K& 180,797 155,537 N4 T40
307 21201 & 150,797 185,537 N4, 740
10 Al SXAEEE 22X 146,597 151,837 Ab,240
OXtHI2Y 25X 243 N (24H])
18,490,000 18,490
ORHIoE 2EXAY 29 Xa(212])
3,558,527 3«3 #1228 128,107
1 AMEISXAIEEXS 4,200 3,700 500
OXHHI2IE 258U 2 X3 (AtH])
4,200,000 4,200
ZoHeoty =4 A& 65,540 30,000 35,540
307 212+01& 65,540 30,000 35,540
05 2ItRIE = 65,540 30,000 35,540
Ot 2¢ XA 65,540
o2&HI(MEHI) 30,000,000& 30,000
[oeikala] 2,961,666 122 35,540
FUESAE JISEZ 55,000 120,000 65,000
== 27,500
Al 27,500
402 2I2F X201 & 55,000 120,000 65,000
< 27,500
Al 27,500
02 QI X2 AL EE (01X THE) 55,000 120,000 65,000
OSLHM=SKIME! R+
55,000,000& 55,000
= 27,500
Al 27,500
YA HHI(F2F0HI) (D1EHIIE}) 72,986 72,954 32
Jl 14,790
Al 40,912
= 17,284
el 2E | 46,864 45,803 1,061
Jl 14,790
Al 14,790




SA: A2 F0jeID
. HYS2JAUI(FZ X4 (DIEHIIE
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 17,284
(SSE)I0MAITH A2 LRI HBI) (RIXEHIE ) 46,864 28,828 18,036
| 14,790
Al 14,790
= 17,284
101 2124 d| 40,052 22,333 17,719
J| 11,384
Al 11,384
= 17,284
03 SR (RIHL) 22X B 40,052 22,333 17,719
oxdgolg 21| 22,768
o=0 1,864,000 128 22,368
J| 11,184
Al 11,184
o W=0H| 100,000 42 400
| 200
Al 200
OO 2 (XA 5,434
odz2Y 1,087,000 23| 2,174
= 2,174
o XISt 326,000& *103] 3,260
= 3,260
OB M2=SH(XHA) 5,160
o W&EH| 60,000& * 12& 720
= 720
o ZMZAlH| 140,000& x12& 1,680
= 1,680
oMU/ ALY 90,000& *12& 1,080
= 1,080
o NEY 140,000& x 123 1,680
= 1,680
O=clEMUI(XHAI) 2,608
o BE S| 1,304,000 23| 2,608
= 2,608
OJIEr=EH(XEAI 4,082
o ==Y 20,406 *10A| 2++12& 2,449
= 2,449
oXtREF/IIY 108,830 * 15 1,633
= 1,633
4 HAIRE3S 6,812 6,495 317
| 3,406
Al 3,406
M SRHE(RINHS) 22X BE28E=2 S 6,812 6,495 317
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2A:

. MIPES(IFZ2Z0H) (AFSISXI/FAHSKIH)
thel: B8XE (CH9): &S
(=] X ZH Ctel (3 (=] MK OH E‘“‘—jE =2}
O=org N2e sea

350,000& 60

21,000




